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Hkkx – I / PART – I 

cky fodkl o f'k{kk'kkL=  / CHILD DEVELOPMENT AND PEDAGOGY 

funs Z'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfpr fodYi pqfu,A 

Direction :  Answer the following questions by selecting the most appropriate option. 

1. lkekU; ifjiDork ls igys çf'kf{kr djuk 

çk;%  

(1) lkekU; dkS'kyksa ds fu"iknu ds lanHkZ esa 

cgqr ykHkdkjh gksrk gSA 

(2) nh?kZdkfyd n`f"Vdks.k ls ykHkdkjh gksrk gSA

 

(3) lHkh n`f"Vdks.k ls gkfudkjd gksrk gSA 

(4) çf'k{k.k gsrq mi;ksx esa yh xbZ fof/k ij 

fuHkZj djrs gq, ykHkdkjh ;k gkfudkjd 

gksrk gSA 

  1. Training before normal maturation is 

generally  

(1)  highly beneficial with respect to 

performance of the common skills. 

(2)  beneficial from the point of view 

of long term. 

(3)  harmful from all points of view. 

(4)  beneficial or harmful depending 

on the method used in training. 

2. ckY;dky gksrk gS  

(1) tUe ls ysdj 3 o"kZ dh vk;q rd 

(2) rhljs o"kZ ls ysdj 6 o"kZ dh vk;q rd 

 

(3) NBs o"kZ ls ysdj 12 o"kZ dh vk;q rd 

 

(4) nwljs o"kZ ls ysdj 10 ;k 12 o"kZ dh 

vk;q rd 

  2. The childhood stage is  

(1) From birth to the age of 3 years 

(2) From third year to the age of  

6 years 

(3) From six year to the age of 12 

years 

(4)  From two year to the age of 10 

or 12 years 
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3. fo|kfFkZ;ksa dks fo|ky; esa [ksy D;ksa [ksyus 

pkfg, \ 

(1) ;g mUgsa 'kkjhfjd :i ls l'kDr cuk,xkA 

(2) ;g f'k{kdksa dk dke vklku djsxkA 

(3) ;g le; fcrkus esa lgk;d gksxkA 

(4) ;g lg;ksx ,oa 'kkjhfjd larqyu dk 

fodkl djsxkA 

  3. Why should students play games in 

school ? 

(1) It will make them physically strong. 

(2) It will make teacher's work easy. 

(3) It will be helpful in passing time. 

(4) It will develop cooperation and 

physical balance. 

4. fuEufyf[kr esa ls vf/kxe laca/kh dkSu-lk 

dFku lgh ugha gS \ 

(1) bls mfpr okrkoj.k pkfg,A 

(2) ifjiDork dk blls dksbZ laca/k ugha gSA 

(3) lgk;d lkexzh vf/kxe esa enn djrh gSA

(4) vf/kxe çfØ;k esa vfHkçsj.kk egÙoiw.kZ 

Hkwfedk fuHkkrh gSA 

  4. Which of the following statements is 

not correct with reference to learning ? 

(1) It requires favourable environment. 

(2) It has no relation with maturity. 

(3) Teaching aids help in learning. 

(4) Motivation plays important role 

in learning process. 

5. f'k{kk cPpksa dh lgk;d gksrh gS] muds  

 

(1) 'kkjhfjd fodkl esa 

(2) dsoy ekufld fodkl esa 

(3) lok±xh.k fodkl esa 

(4) dsoy pfj= fodkl esa 

  5. Education is helpful to children in 

their  

(1) Physical development 

(2) Mental development only 

(3) All-round development 

(4)  Character development only 
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6. f'k{k.k lcls vf/kd çHkkoh gksrk gS tc  

(1) fo|kFkhZ fo"k; esa #fp ysrs gSaA 

(2) f'k{kd dks fo"k; dk xgu Kku gksA 

 

(3) fo|kfFkZ;ksa dks muds ekufld Lrj ds 

vuq:i f'k{kk nh tk,A 

(4) ,d gh fo"k;-oLrq dks ckj-ckj nksgjk;k 

tk,A 

  6. Teaching is most effective when  

(1) students take interest in the subject. 

(2) teacher has deep knowledge of 

the subject. 

(3) students are taught according to 

their mental level. 

(4) same subject matter is repeated 

again and again. 

7. ,d ckyd d{kk esa lh[ks x, xf.kr dk mi;ksx 

fdlh vU; fo"k; ds ç'u dks gy djus esa 

djrk gS] rks ;g gS  

 

(1) vf/kxe dk ldkjkRed LFkkukarj.k 

(2) vf/kxe dk 'kwU; LFkkukarj.k 

(3) vf/kxe dk udkjkRed LFkkukarj.k 

(4) çsj.kkRed LFkkukarj.k 

  7. A child applies the mathematics 

learned in the class in solving 

problem of some other subject, then it 

is called  

(1) Positive transfer of learning 

(2) Zero transfer of learning 

(3) Negative transfer of learning 

(4) Motivational transfer 

8. fuEufyf[kr esa ls dkSu&lk dkjd cPps ds 

laosxkRed fodkl dks lcls de çHkkfor djus 

okyk gS \ 

(1)  ifjokj 

(2) vkfFkZd fLFkfr 

(3) LokLF;  

(4) [ksydwn 

  8. Which of the following factors will 

have least influence on the emotional 

development of a child ? 

(1) Family  

(2) Economic condition 

(3) Health 

(4) Games 
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9. dksgycxZ ds vuqlkj og Lrj ftlesa ckyd 

dh uSfrdrk naM ds Hk; ls fu;af=r jgrh gS] 

dgykrk¼rh½ gS  

(1) iwoZ-uSfrd voLFkk 

(2) ijEijkxr uSfrd Lrj 

(3) vkRe-Lohd`r uSfrd voLFkk  

(4) uSfrdrk Lrj 

  9. According to Kohlberg the level in 

which child's morality is controlled by 

fear of punishment is called  

(1) Pre-moral stage 

(2) Conventional moral level 

(3) Self-accepted moral stage  

(4) Morality level 

10. fi;kts ds laKkukRed fodkl ds pkj pj.kksa esa 

dkSu-lk lfEefyr ugha gS \ 

(1) bafæ; xked voLFkk 

(2) iwoZ-lafØ;kRed voLFkk 

(3) mÙkj-lafØ;kRed voLFkk 

(4) vewrZ lafØ;kRed voLFkk 

  10. Which one is not included in Piaget's 

four stages of cognitive development ? 

(1) Sensory motor stage 

(2) Pre-operational stage 

(3) Post-operational stage 

(4) Formal operational stage 

11. fuEufyf[kr esa ls dkSu&lk dFku lgh ugha

gS \ 

(1) fodkl vkSj o`f) ,d-nwljs ds i;kZ;okph 

gSaA 

(2) fodkl ,d lrr çfØ;k gSA 

 

(3) o`f) fodkl dk gh ,d Hkkx gSA 

(4) fodkl dk;Z{kerk] dk;Zdq'kyrk vkSj 

O;ogkj esa vkus okys xq.kkRed ifjorZuksa 

dks çdV djrk gSA 

  11. Which of the following statements is 

not correct ? 

(1) Development and growth are 

synonyms. 

(2) Development is a continuous 

process. 

(3) Growth is a part of development. 

(4) Development shows the qualitative 

changes appearing in work-capacity, 

work-capability and behaviour. 
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12. fuEufyf[kr esa ls dkSu-lh uSfrd vknr ugha

gS \ 

(1) lR; cksyuk 

(2) lgkuqHkwfr fn[kkuk 

(3) lgh mPpkj.k djuk 

(4) thoksa ij n;k fn[kkuk 

  12. Which of the following is not a moral 

habit ? 

(1) Speaking truth 

(2) Showing sympathy 

(3) Correct pronunciation 

(4) Showing kindness to living beings 

13. fuEufyf[kr esa ls dkSu&lk fodYi f'k{kk 

euksfoKku dh ,d lhek gS \ 

(1) cky fodkl dh fofHkUu voLFkkvksa dk 

Kku 

(2) d{kk dh leL;kvksa dk lek/kku 

(3) ckyd dsafær f'k{kk 

(4) oS;fDrd fofHkUurkvksa dh leL;k 

  13. Which of the following options is a 

limitation of educational psychology ? 

(1) Knowledge of various stages of 

child development 

(2) Solution of problems of the class 

(3) Child centred education 

(4) Problem of individual differences 

14. fuEufyf[kr esa ls dkSu&lk fodYi vf/kxe ds 

laca/k esa lgh ugha gS \ 

(1)  vf/kxe lek;kstu gS 

(2) vf/kxe flQZ Kku çkfIr gS 

 

(3) vf/kxe fodkl gS 

(4) vf/kxe ifjiDork gS 

  14. Which of the following options is not 

correct about learning ? 

(1) Learning is adjustment 

(2) Learning is only aquisition of 

knowledge 

(3) Learning is development  

(4) Learning is maturation 
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15. dsl v/;;u fof/k ds laca/k esa D;k lgh ugha

gS \ 

(1) ;g ,d oSKkfud fof/k gSA 

(2) ;g fof/k cgqr tfVy gksrh gSA 

(3) ;g ljy vkSj lLrh gksrh gSA 

(4) ;g dkj.k dk irk yxkdj leL;kvksa dk 

funku djrh gSA 

  15. What is not correct in the reference to 

case study method ? 

(1) It is a scientific method. 

(2) The method is very complex. 

(3) It is simple and cheap. 

(4) It gives remedies  of problems 

after knowing the reasons. 

16. d{kk rhu ds fo|kfFkZ;ksa ds fy, fuEufyf[kr esa 

ls f'k{k.k dk lcls vPNk rjhdk dkSu-lk gksxk \

 

(1) ç;ksx'kkyk fof/k 

(2) lewg okrkZyki 

(3) O;k[;ku fof/k 

(4) l`tukRed fØ;kdyki 

  16. Which of the following methods will 

be best for teaching students of class 

three ? 

(1) Laboratory method 

(2) Group discussion 

(3) Lecture method 

(4) Creational activities 

17. fuEufyf[kr esa ls dkSu-lh ,d ckyd dh 

euksxR;kRed xfrfof/k ugha gksrh \ 

(1) [ksyuk 

(2) xsan Qsaduk 

(3) fy[kuk 

(4) lkspuk 

  17. Which of the following is not a 

psycho-motor activity of a child ? 

(1)  Playing 

(2) Throwing a ball 

(3) Writing 

(4)  Thinking 
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18. cPpksa ds laKkukRed fodkl dks lcls vPNs 

rjhds ls dgk¡ ifjHkkf"kr fd;k tk ldrk gS \ 

(1) [ksy dk eSnku 

(2) ?kj 

(3) vkWfMVksfj;e 

(4) fo|ky; ,oa d{kk 

  18. Where can the child's cognitive 

development be defined the best way ? 

(1) Playground 

(2) Home 

(3) Auditorium 

(4) School and Classroom 

19. cqf)yfC/k laca/kh fofHkUurkvksa esa dkSu lfEefyr 

ugha gS \ 

(1) vkSlr cqf)eku 

(2) cqf)eku 

(3) dyk esa #fp 

(4) eancqf) 

  
19. Which is not included in differences 

related to I. Q. ? 

(1) Average intelligent 

(2) Intelligent 

(3) Interest in Art 

(4) Slow learner 

20. fuEufyf[kr esa ls ckSf)d okrkoj.k dks 

çHkkfor djus okyk lcls egÙoiw.kZ dkjd 

dkSu-lk gS \ 

(1) fo|ky; dk okrkoj.k 

(2) ifjokj dk okrkoj.k 

(3) ikl-iM+ksl dk okrkoj.k 

(4) lkaLd`frd okrkoj.k 

  20. Which of the following factors is most 

important in affecting the intellectual 

environment ? 

(1) Environment of the school 

(2) Environment of family 

(3) Environment of neighbourhood 

(4) Cultural environment 
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21. fi;kts ds vuqlkj fodkl dh çFke voLFkk 

¼tUe ls 2 o"kZ rd½ esa cPpk vf/kd mi;qDr 

çdkj ls ftlds }kjk lh[krk gS] og gS  

(1) bafæ;ksa ds ç;ksx }kjk 

(2) vewrZ fparu }kjk 

(3) Hkk"kk ds u, lh[ks 'kCnksa ds cks/k ds }kjk 

(4) ewrZ fparu }kjk 

  21. According to Piaget, during the first 

stage of development (from birth to 2 

years of age) a child learns best  

(1) By using senses 

(2) By thinking in an abstract way 

(3) By comprehending new words 

(4) By concrete thinking 

22. fuEufyf[kr esa ls fdl {ks= esa ,u lh bZ vkj 

Vh euksfoKku dk ç;ksx dj jgk gS \ 

(1) ikB~;iqLrdksa dk fuekZ.k 

(2) fo|ky; laxBu 

(3) fo"k; fu/kkZj.k  

(4) foÙkh; lgk;rk 

  22. In which of the following area NCERT 

is using psychology ? 

(1) Preparation of textbooks 

(2) School organization 

(3) Subject determination 

(4) Financial support 

23. fuEufyf[kr esa ls fdl dkjd dk lh[kus ij 

lcls de çHkko iM+rk gS \ 

(1)  Fkdku 

(2) vk;q 

(3) jksx 

(4) fyaxHksn 

  
23. Which of the following factors has 

least effect on learning ? 

(1) Fatigue 

(2) Age 

(3) Illness 

(4) Gender difference 
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24. fuEufyf[kr esa ls dkSu-lk ç'ukoyh fof/k dk 

nks"k ugha gS \ 

(1) vPNs ç'u cukuk ,d dfBu dk;Z gSA 

 

(2) bl fof/k ls vusd O;fDr;ksa ds fopkj 

tkus tk ldrs gSaA 

(3) gks ldrk gS fd lfEefyr ç'u 

lqfu;ksftr u gksaA 

(4) gks ldrk gS fd yksx ç'uksa ds mÙkj nsus 

esa #fp u j[krs gksaA 

  24. Which of the following is not a defect 

of questionnaire method ? 

(1) Forming good questions is a 

difficult job. 

(2) Views of many persons are 

obtained by this method. 

(3) The questions included may not 

be well planned. 

(4) Persons may not be interested to 

answer the questions. 

25. fupyh d{kkvksa esa f'k{k.k dh [ksy fof/k ftl 

ij vk/kkfjr gS] og gS  

(1) 'kkjhfjd f'k{kk dk;ZØe 

(2) f'k{k.k dh fof/k;ksa ds fl)kar 

(3) fodkl vkSj o`f) ds euksoSKkfud fl)kar 

 

(4) f'k{k.k ds lekt'kkL=h; fl)kar 

  

25. In lower classes, play-way method of 

teaching is based on  

(1) Physical education programme 

(2) Theories of methods of teaching 

(3) Psychological principles of 

development and growth 

(4) Sociological principles of teaching 
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26. fuEufyf[kr esa ls dkSu-lk y{k.k cfgeqZ[kh 

O;fDrRo dk ugha gS \ 

(1) feyulkj 

(2) usr`Ro 'kfDr 

(3) vkØked LoHkko 

(4) fnokLoIu ns[kusokyk 

  26. Which of the following is not the 

characteristic of extrovert personality ? 

(1) Sociable 

(2) Leadership power 

(3) Aggressive temper 

(4) Day dreamer 

27. fuEufyf[kr esa ls dkSu-lk ckyd ds ekufld 

LokLF; ij çHkko Mkyus okyk dkjd ugha gS \ 

(1) ifjokj esa xjhch 

(2) d{kk esa uhan vkuk 

(3) Lusg dk vHkko 

(4) ikfjokfjd Dys'k 

  27. Which of the following is not a factor 

affecting the mental health of a child ? 

(1) Poverty in the family 

(2) Feeling sleepy in the classroom 

(3) Lack of affection 

(4) Domestic quarrel 

28. fuEufyf[kr esa ls dkSu-lh vfHko`fÙk dh 

fo'ks"krk ugha gS \ 

(1) ;g çsj.kkRed gksrh gSA  

(2) ;g gekjs O;ogkj dk vk/kkj gksrh gSA 

(3) ;g vLFkk;h gksrh gSA 

(4) ;g lh[kh tkrh gSA 

  28. Which of the following is not a 

speciality of attitude ? 

(1) It is inspiring. 

(2) It is the base of our behaviour. 

(3) It is temporary. 

(4) It is learned. 
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29. ,d ckyd dh laKkukRed 'kfDr;k¡ tSls 

dYiuk-'kfDr] cqf)] fu.kZ; ysus dh {kerk] 

vkfn dk laca/k gS ckyd ds  

(1) 'kkjhfjd fodkl ls 

(2) lkekftd fodkl ls 

(3) lok±xh.k fodkl ls 

(4) ekufld fodkl ls 

  29. Cognitive powers of a child like 

imagination power, intelligence, ability 

to take decision etc. are related to child's   

(1) Physical development 

(2) Social development 

(3) All-round development 

(4) Mental development 

30. mipkjkRed fof/k dk ç;ksx ftuds fy, fd;k 

tkrk gS] os gSa  

(1) lkekU; cPps 

(2) leL;kRed cPps 

(3) lkekU; rFkk leL;kRed cPps 

(4) çfrHkk'kkyh cPps 

  
30. Remedial method is used for  

 

(1) Normal Children 

(2) Problematic Children 

(3) Normal and Problematic Children 

(4) Gifted Children 
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31. fuEu esa ls ^v;ksxokg* gS  

(1) = (2) vk 

(3) folxZ ¼%½ (4) ´ 

32. fuEu esa ls lgh fodYi dk p;u dhft, 

(1) Jksr 

(2) òksr 

(3) òks= 

(4) L=ksr 

33. ^yyuk* fuEu esa ls i;kZ; gS 

(1) xk; dk 

(2) dks;y dk 

(3) L=h dk 

(4) eksj dk 

34. ^og unh esa rSjus yxk*] okD; çdkj gS  

(1) la;qDr okD; 

(2) ljy okD; 

(3) feJ okD; 

(4) buesa ls dksbZ ugha 

35. ^dy'k − dqfy'k* 'kCn ;qXe dk mi;qDr vFkZ 

gS 

(1) xkxj − iRFkj 

(2) ?kM+k − otz 

(3) ?kV − pV~Vku 

(4) ?kM+k −  fctyh 

36. ^voj* 'kCn dk foykse gS 

(1) çoj 

(2) fuoj 

(3) Åij 

(4) fooj 

37. fuEukafdr esa ^bd* çR;; ls fufeZr 'kCn ugha

gS 

(1) 'kS{kf.kd 

(2) vf/kd 

(3) ,sfrgkfld 

(4) uS;kf;d 

Hkkx - II/PART - II 

Hkk"kk - I ¼fgUnh½/LANGUAGE - I (HINDI) 
funs Z'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfpr fodYi pqfu,A 
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38. fuEu esa ls csesy 'kCn pqfu, 

(1) /otk 

(2) fu'kku 

(3) dsrq 

(4) ped 

39. ^lQsnh* 'kCn gS 

(1) tkfrokpd laKk 

(2) Hkkookpd laKk 

(3) xq.kokpd fo'ks"k.k 

(4) O;fDrokpd laKk 

40. ^og iqLrd vPNh gS* esa ^og* 'kCn gS 

(1) loZuke 

(2) lkoZukfed fo'ks"k.k 

(3) fuf'pr xq.kokpd fo'ks"k.k 

(4) fu'p;okpd loZuke 

41. ^vkleku ij Fkwduk* eqgkojs dk vFkZ gS 

(1) Åij dh vksj Fkwduk 

(2) vlEHko ckrsa djuk 

(3) çfrf"Br O;fDr dh fuank djuk 

(4) >wBh 'kku fn[kkuk 

42. fuEu esa ls rRle gS 

(1) o/kw 

(2) ?kh 

(3) [ktwj 

(4) iyax 

43. fuEu esa ns'kt 'kCn gS 

(1) dikl (2) bjknk 

(3) gkL; (4) lkl 

44. ^vktkuqckgq* 'kCn esa lekl gS  

(1) }U} 

(2) deZ/kkj; 

(3) vO;;hHkko 

(4) rRiq#"k 
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45. ^vgksjk=* dk laf/k foPNsn gS  

(1) vgu + jkf= 

(2) vgu~ + jkf= 

(3) vgks + jk= 

(4) vgk + jkf= 

46. ^ftls cqyk;k u x;k gks*] mls dgrs gSa  

(1) vfrfFk 

(2) vukgwr 

(3) vukxr 

(4) v;kfpr 

47. ^vDdM+* çR;;] d`r~ çR;; dk dkSu-lk çdkj 

gS \ 

(1) dr`Zokpd  

(2) deZokpd 

(3) dj.kokpd 

(4) Hkkookpd 

48. ^yTtk* 'kCn gS 

(1) rRle (2) rn~Hko 

(3) ns'kt (4) v/kZ rRle 

49. ^egÙo* dk mfpr laf/k foPNsn gS 

(1) egr~ + Ro 

(2) eg + Ro 

(3) egku~ + Ro 

(4) egr~ + o 

50. v'kq) 'kCn dks pqfu, 

(1)  iwT;uh; 

(2)  pgkjnhokjh 

(3)  mfPN"V 

(4)  ikfjokfjd 

51. fuEufyf[kr esa dkSu ,d vU; rhu ls fHkUu 

gS \ 

(1) dkark 

(2) iRuh 

(3) fç;k 

(4) dkafr 
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52. ^fQtwy[kphZ djuk cqjh vknr gS* − js[kkafdr 

'kCn dk lekukFkhZ pqfu, 

(1) ferO;; (2) viO;; 

(3) ifjO;; (4) mi;qZDr lHkh 

53. fØ;k ds ewy:i dks D;k dgrs gSa \ 

(1)  fØ;kfo'ks"k.k 

(2)  dkjd 

(3)  /kkrq 

(4) buesa ls dksbZ ugha 

54. ^viu Bhd jkLrs ij gSaA* okD; esa v'kqf) gS 

(1) orZuh laca/kh 

(2) vO;; laca/kh 

(3) loZuke laca/kh 

(4) fyax laca/kh 

55. okD; dk og va'k tks okD; ds mn~ns'; ds 

fo"k; esa crkrk gS] dgykrk gS 

(1) fo/ks; 

(2) foLrkjd 

(3) okpd 

(4) miokD; 

funsZ'k % fuEufyf[kr x|ka'k dks i<+dj fn, x, ç'uksa
¼ç'u la0 56–60½ ds lcls mfpr fodYi dks pqfu, % 
 dkO; esa ,d iFk ds ikUFk gSa rqylhnkl vkSj 
nwljs ds dkfynklA rqylh 'khy dh Nk¡g esa N¡gkrs 
pyrs gSa] vkSj dkfynkl fctfy;ksa dh dkSa/k ls vk¡[ksa 
feykrs pyrs gSaA rqylh esa ey;t dh rjg rki-
fuokj.k dh {kerk gS] dkfynkl esa yksfgr pUnu dh 
rjg mUeknu jkx-foo/kZu dh 'kfDr gSA ,d rhljk Hkh 
iUFk gS] ds'kj ;k gYnh ds jax esa ey;t dks lalDr 
djds fryd nsus okyksa dkA jkxkfRedk HkfDr ds }kjk 
nf{k.k vkSj oke iFk ds chp lgt lek/kku çkIr djus 
okyksa dkA buds fryd esa cafdek vkSj lknxh nksuksa 
gksrh gSA lwjnkl] fgrgfjoa'k] O;kl vkfn blh iUFk ds 
ç.ksrk gSaA vkSj ,d pkSFkk pUnu Hkh gS] ftldks oS".ko 
tu xksih-pUnu dgrs gSaA esjh ,d ije oS".ko pkph 
gSa] os crykrh gSa fd ftl ljksoj esa xksfi;ksa us Luku 
djds vius çs"B Hkxoku~ dk lk{kkRdkj ik;k] ml 
ljksoj dh feV~Vh gh lefiZr xksih ds vax ls yxdj 
pUnu cu x;h gSA lEHkor% ftrus Hkh nqjko] vkoj.k 
vkSj vkReladksp vkfn d`i.kHkko gks ldrs gSa] mu 
lcls eqDr gksdj vius dks fu''ks"k Hkko ls tks vius 
loZJs"B dkE; ds fy, viZ.k djrs gSa] rks ey;kpy 
dh rjg vius vkJ;-ek= dks pUnu cukus esa os 
leFkZ gks gh tkrs gSaA gk¡] ;g xksih-pUnu cgqr gh 
mPprj Hkwfedk okys fl) HkDrksa ds fy, gh gSA 

 ij eSa rks ;g ekurk gw¡ fd pUnu tks Hkh gks] 
fdlh jax esa Hkh luk gks] og gekjh fo'oHkkouk dk gh 
,d 'kq"dçk; [k.M gS] ftls jl-flDr djuk gekjk 
lrr dÙkZO; gSA ftl fdlh Hkh f'kyk dk ge gksjlk 
cuok,¡] og /kjrh ij fVdh gks] la?k"kZ.k esa og 
Mxexkus okyh u gksA ge tks dksbZ Hkh ty lhap-
lhapdj pUnu dks vkæZ djsa( og 'kqfp gks] LoPN gks 
vkSj vfHkefU=r gksA ge fryd tks Hkh yxk,¡] og 
vfiZr pUnu dk fryd gks] LokFkZ la?k`"V u gks] 
lqfoLr`r fo'o dks lqjfHkr djus ls  tks cpk gks] ogh 
ge vius flj-vk¡[kksa ysa] blh esa gekjh HkO; ijEijk 
dh vfHko`f) vkSj ge lHkh ds vUr%dj.kksa dk 
lkSeuL; lfUufgr gSA rÙor% geha pUnu gSa] geha ikuh 
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gSa] geha gksjlk gSa] geha dVksjh gSa ftlesa pUnu j[kk 
tkrk gSA geha vpZuh; nsork gSa vkSj geha vpZd HkDr 
gSa( ij ;g gekjk foLrkj cks/k Hkh rHkh txrk gS] tc 
ge çHkq dks pUnu vkSj vius dks ikuh ekudj pyrs 
gSaA mnkÙk :iksa dk vkdkj lkeus j[kdj muls mudk 
lkj xzg.k djrs gq, thou esa mrkjuk gS] ;g /;s; 
lkeus j[kdj pyrs gSa vkSj tks Hkh mnkÙk xq.k ge 
vftZr djrs gSa] mudks fo'ofgr esa fofu;ksftr djus 
dk ladYi ysdj pyrs gSaA 

56. ^ey;t* dk vFkZ gS  

(1) ey; ioZr dh ok;q 

(2) pUnu 

(3) dkenso 

(4) 'khryrk 

57. dkfynkl dh dkO;-{kerk rqyuh; gS  

(1) jkx-foo/kZu ls 

(2) ey;t ls 

(3) yksfgr pUnu ls 

(4) rki-fuokj.k ls 

58. lwjnkl ds lkfgR; dh fo'ks"krk gS  

(1) jkxkfRed HkfDr 

(2) cafdek vkSj lknxh 

(3) nf{k.k vkSj oke dk e/;e ekxZ 

(4) mi;qZDr lHkh 

59. ey;kpy dh rqyuk dh xbZ gS  

(1) oS".koksa ls 

(2) ljksoj ls 

(3) fu''ks"k Hkko ls viZ.k djus okyksa ls 

(4) Hkxoku dk lk{kkRdkj ikus okyksa ls 

60. foLrkj Hkko txrk gS  

(1) çHkq dks pUnu vkSj vius dks ikuh ekuus

ls 

(2) /;s; dks lkeus j[kus ls 

(3) oS".ko HkfDr ls 

(4) jl-flDr gksus ls 
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61. Choose the appropriate preposition 

for the blank : 

'I shall come back ............. 7 O'clock.' 

(1) in 

(2) to 

(3) at 

(4) for 

62. The word 'Kindergarten' is a German 

word meaning  

(1) beautiful garden 

(2) lovely garden 

(3) small garden 

(4) children's garden 

63. According to you, how can grammar 
be best taught to students ? 

(1) By giving more and more written 

exercises 

(2) By giving clear explanation 

(3) By memorising definitions, rules 

(4) By giving practice in context 

64. Choose the appropriate article for 

the blank :  

'A gentleman came to school to see 

............. Principal.' 

(1) a 

(2) the  

(3) an 

(4) zero article 

65. It is rightly said that a teacher always 

keeps on learning. A teacher learns 

from  

(1) Books 

(2) Friends/Colleagues 

(3) Students 

(4) All of the above 

66. According to you, what type of 

atmosphere is required for learning ? 

(1) Social 

(2) Noisy 

(3) Adverse 

(4) Quiet 

Hkkx - III/PART - III 

Hkk"kk - II ¼vaxz sth½/LANGUAGE - II (ENGLISH) 

Direction :  Answer the following questions by selecting the most appropriate option. 
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67. The captain said to the soldiers, "You 

will guard this bridge." 

Here the captain  

(1) requests 

(2) orders 

(3) advices 

(4) invites 

68. During the British rule in India, who 

played the most significant role in 

making English as a medium of 

education ? 

(1) Macaulay 

(2) Dalhousie 

(3) Curzon 

(4) William Bentinck 

69. Choose the most appropriate option 

for the blank : 

'There is hardly ............ time left for 

the bus.' 

(1) any (2) much 

(3) more (4) most 

70. Fill in the blank with the correct 

option in given sentence : 

"I paid the bill but the cashier did not 

give the ................ ." 

(1) receipt 

(2) receive 

(3) receiving 

(4) received 

71. Which word of the given words is an 

adjective ? 

(1) Wisdom 

(2) Truth 

(3) Intelligent 

(4) Youth 

72. The synonym of 'Courteous' is  

(1) impolite 

(2) kind 

(3) polite 

(4) kindness 
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73. Complete the sentence with the 
correct option : 

"My brother goes for a walk daily. He 
walks very .............. ." 

(1) fast (2) quick 

(3) slow (4) fastly 

74. Choose a suitable pronoun for the 

blank, from the options given : 

'Heena and Teena own a house. ......... 

house is beautifully built.' 

(1) His 

(2) Her 

(3) Theirs 

(4) Their 

75. He said to Mohan, "Help me, please." 

In reported speech the above sentence 

will be 

(1) He requested Mohan to help him. 

(2) He suggested Mohan to help him. 

(3) He ordered Mohan for help. 

(4) He thanked Mohan for his help. 

Direction : Read the following passage 

carefully and answer the questions strictly 

from the passage (Q. Nos. 76 to 82) : 

 Forget goodwill and equality when it 
comes to our friendship. Research has 
shown that when it comes to picking friends, 
we feel most comfortable in the company of 
people who we think are on the same level 
as us socially or even slightly below us. It 
doesn't matter how well you're doing as long 
as you believe you are better off than your 
friends and neighbours you find your life 
more fulfilling. 

 This new research might come as a 

shock to many, but if we are completely 

honest with ourselves, we would realise that 

we have felt slightly threatened by a friend's 

success sometime or the other. Even with 

past friendships, the real reason could be 

that at some point, one of you may have felt 

a bit superior or inferior to the other. Even 

if we don't spell it out, most friendships 

have a lot going on below the surface. As 

much as we may try to deny it or pretend 

otherwise, most of us are easily impressed 

by a great job, a large bank account or rising 

social status when it comes to picking a 

partner, or friends. In both cases, we want 

people who are there for us and reinforce 

our own self-worth. So, more often than not, 
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the question that is running through our 

heads is, how can we choose a good friend, if 

we were not as good ourselves ? But it's not 

all about the outward trappings. Very often, 

it is the emotional bit that is relevant. For 

instance, a woman losing vast amounts of 

weight may get not very complimentary 

feedback from close friends, no matter how 

fabulous she looks. She could be accused of 

being too thin or even arrogant suddenly. 

What has happened basically is that as her 

friendship status has gone up, she is forcing 

her friends to re-evaluate theirs. 

76. When we choose friends, we don't pay 
attention to  

(1) their mental level 

(2) financial status 

(3) goodwill or equality 

(4) superiority 

77. We become jealous of our friend's 

success because 

(1) we can't accept a challenge 

(2) we feel threatened by their success 

(3) they have a higher status 

(4) we are incapable of achieving 

success 

78. We attach more importance to the 

rising status of our friends because 

(1) of their higher financial status 

(2) of their respect in society 

(3) it reinforces our own self-worth 

(4) of their reflected glory 

79. A fat woman who has lost weight may 

not get good compliments from her 

friends because  

(1) her friendship status has 

suddenly gone up that forces 

them to re-evaluate their own 

status 

(2) she looks more beautiful than the 

others 

(3) she has become arrogant 

(4) she has challenged their beauty 

80. We feel comfortable in the company of 

friends who 

(1)  are less beautiful 

(2) are of similar or a little lower 

social standing 

(3) enjoy better reputation in the 

society 

(4) are polite and well mannered 
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81. We wish to be re-evaluated when  

(1) we are in a financial crisis 

(2) we are in distress 

(3) our status is better off 

(4) we have so many friends 

82. The word 'arrogant' in the passage 

means  

(1) Youthful 

(2) Morose 

(3) Proud and unpleasant  

(4) Resentful 

83. In making classroom teaching 

effective, the most important part is  

(1) Lesson plan 

(2) Study material 

(3) Teaching method 

(4) Teacher's personality 

84. The word opposite in meaning to 

'innocent' is  

(1) guilty 

(2) clever 

(3) smart 

(4) ignorant 

85. Choose the correct option of the 

given jumbled words  

art / study / do / ? / you 

(1) You study art do ? 

(2) You do art study ? 

(3) Do you study art ? 

(4) You do study art ? 

86. Choose the word which has a different 

sound (underlined in the beginning) 

(1) Cheque 

(2) Chain 

(3) Check 

(4) Chemistry 
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87. The Montessori system of teaching 

focuses on 

(1) the child 

(2) the teacher 

(3) the textbook 

(4) the study material 

88. Fill in the blank with the correct 

form of verb given in brackets from 

the options : 

The train ............... (leave) before he 

reached the station. 

(1) left  

(2) had left 

(3) was leaving 

(4) had been leaving 

 

 

 

 

 

89. Identify the word which has a 

different sound (underlined in the last) 

(1) tough 

(2) laugh 

(3) high 

(4) rough 

90. 'Kavita is a beautiful girl.' 

The underlined word in the sentence 

is used as a/an 

(1) Noun (2) Verb 

(3) Adjective (4) Adverb 
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Hkkx – IV / PART – IV 
xf.kr  / MATHEMATICS 

funs Z'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

91. lcls NksVh oxZ la[;k Kkr dhft, tks çR;sd 

la[;k 6, 9 vkSj 15  ls foHkkftr gks tk, 

 

(1) 225 (2) 900 

(3) 450 (4) 36 

  91. Find the smallest square number 

which is divisible by each of the 

numbers 6, 9 and 15  

(1) 225 (2) 900 

(3) 450 (4) 36 

92. ,d f[kykSuk dkj dk foØ; ewY; #0 540 
FkkA ,d nqdkunkj us mls 20% ykHk ij cspkA 
f[kykSus dk Ø; ewY; D;k Fkk \ 

 

(1) #0 385 

(2) #0 375 

(3) #0 350 

(4) #0 450 

  92. The selling price of a toy car was 
Rs. 540. If the profit made by 
shopkeeper was 20%, what was the 
cost price of this toy ? 

(1) Rs. 385 

(2) Rs. 375 

(3) Rs. 350 

(4) Rs. 450 
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93. 
6/5

64
1 −

⎟
⎠
⎞

⎜
⎝
⎛  dk eku gksxk  

(1) 8 

(2) 16 

(3) 32 

(4) 1/32 

  93. The value of 
6/5

64
1 −

⎟
⎠
⎞

⎜
⎝
⎛ will be  

(1) 8 

(2) 16 

(3) 32 

(4) 1/32 

94. ,d leprqHkqZt dk {ks=Qy 240 oxZ lseh gS 

vkSj fod.kks± esa ls ,d dh yackbZ 16 lseh gSA 

nwljk fod.kZ Kkr dhft, 

(1) 20 lseh 

(2) 30 lseh 

(3) 25 lseh 

(4) 15 lseh 

  94. The area of a rhombus is 240 2cm  

and one of the diagonals is 16 cm. 

Find the other diagonal 

(1) 20 cm 

(2) 30 cm 

(3) 25 cm 

(4) 15 cm 
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95. m dk eku Kkr dhft, rkfd 

( )751 3)3()3( −=−×− +m  

(1) 4 

(2) 2 

(3) 1 

(4) 0 

  95. Find m so that  

( )751 3)3()3( −=−×− +m  

(1) 4 

(2) 2 

(3) 1 

(4) 0 

96. 105 fyQkQksa dk ewY; 35 #0 gSA 10 #0 esa 
fdrus fyQkQs [kjhns tk ldrs gaS ? 
 

(1) 30 

(2) 24 

(3) 32 

(4) 27 

  96. The cost of 105 envelopes is Rs. 35. 
How many envelopes can be purchased 
for Rs. 10 ? 

(1) 30 

(2) 24 

(3) 32 

(4) 27 
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97. lehj dh ek¡ dh orZeku vk;q lehj dh 
orZeku vk;q dh rhu xquh gSA 5 o"kZ ckn mu 
nksuksa dh vk;q dk ;ksx 66 o"kZ gks tk,xkA 
lehj dh orZeku vk;q Kkr dhft, 
 

(1) 14 o"kZ 

(2) 16 o"kZ 

(3) 12 o"kZ  

(4) 15 o"kZ 

  97. The present age of Sameer's mother is 
three times the present age of 
Sameer. After 5 years sum of their 
ages will be 66 years. Find the 
present age of Sameer 

(1) 14 years 

(2) 16 years 

(3) 12 years  

(4) 15 years 

98. ;fn 
3
5

=
y
x , rks 

yx
yx

−
+  dk eku gS  

(1) 4 

(2) 2 

(3) −2 

(4) −4 

  98. If 
3
5

=
y
x , then 

yx
yx

−
+  is equal to  

(1) 4 

(2) 2 

(3) −2 

(4) −4 
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99. fdlh la[;k ds frxqus vkSj 11 dk ;ksx 32 gSA 

og la[;k Kkr dhft, 

(1) 5 

(2) 7 

(3) 11 

(4) 9 

  99. The sum of three times a number and 

11 is 32. Find the number 

(1) 5 

(2) 7 

(3) 11 

(4) 9 

100. og lcls NksVh la[;k Kkr dhft, ftls 12, 

16, 24 vkSj 36 ls Hkkx nsus ij çR;sd n'kk esa 

7 'ks"k jgrk gS 

(1) 144 

(2) 151 

(3) 165 

(4) 148 

  100. Find the least number which when 

divided by 12, 16, 24 and 36 leaves a 

remainder 7 in each case 

(1) 144 

(2) 151 

(3) 165 

(4) 148 
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101. ,d le cgqHkqt dh Hkqtkvksa dh la[;k Kkr 
dhft, ftlds çR;sd cká dks.k dh eki 45° 
gS 

(1) 8 (2) 10 

(3) 6 (4) 4 

  101. Find the number of sides of a regular 
polygon whose each exterior angle 
has a measure of 45°  

(1) 8 (2) 10 

(3) 6 (4) 4 

102. 13824 dk ?kuewy Kkr dhft, 

(1) 17 (2) 18 

(3) 28 (4) 24 

  102. Find the cube root of 13824 

(1) 17 (2) 18 

(3) 28 (4) 24 

103. ,d ledks.k f=Hkqt dh nks NksVh Hkqtkvksa dk 

eki 8 lseh rFkk 6 lseh gSA bldh rhljh 

Hkqtk dk eki gksxk 

(1) 14 lseh 

(2) 9 lseh 

(3) 10 lseh 

(4) 100 lseh 

  103. For a right-angled triangle, two small 

sides are of 6 cm and 8 cm length. 

Length of third side will be  

(1) 14 cm 

(2) 9 cm 

(3) 10 cm 

(4) 100 cm 
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104. #0 4,500 ds _.k ij 2 o"kZ ckn euksgj 
#0 750 lk/kkj.k C;kt nsrk gSA C;kt dh nj 
çfr'kr Kkr dhft, 

(1) 8% 

(2) 8 3
1 % 

(3) 9% 

(4) 9 3
2 % 

  104. If Manohar pays an interest of  
Rs. 750 for 2 years on a sum of  
Rs. 4,500, find the rate of interest 

(1) 8% 

(2) 8 3
1 % 

(3) 9% 

(4) 9 3
2 % 

105. esjh dkj 25 yhVj isVªksy esa 150 fdeh dh 

nwjh r; dj ldrh gSA 30 yhVj isVªksy esa ;g 

fdruh nwjh r; dj ldsxh \ 

(1) 205 fdeh 

(2) 195 fdeh 

(3) 180 fdeh 

(4) 175 fdeh 

  105. The car that I own can go 150 km 

with 25 litres of petrol. How far can it 

go with 30 litres of petrol ? 

(1) 205 km 

(2) 195 km 

(3) 180 km 

(4) 175 km 
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106. 18, 35, 10, 42, 21 dh ekf/;dk gksxh 

(1) 18 (2) 10 

(3) 21 (4) 5 

  106. Median of 18, 35, 10, 42, 21 will be 

(1) 18 (2) 10 

(3) 21 (4) 5 

107. 433 52 aa ××  dk eku gksxk  

(1) 1010a  (2) 40a 

(3) 740a  (4) 40a12 

  107. The value of 433 52 aa ××  will be  

(1) 1010a  (2) 40a 

(3) 740a  (4) 40a12 

108. lksgu us ,d iqjkuk jsfÝtjsVj #0 2,500 esa 

[kjhnkA mlus #0 500 mldh ejEer ij 

[kpZ fd, vkSj #0 3,300 esa csp fn;kA 

mldk ykHk vFkok gkfu çfr'kr Kkr dhft, 

(1) 15% gkfu  

(2) 10% gkfu  

(3) 12% ykHk  

(4) 10% ykHk  

  108. Sohan bought an old refrigerator for 

Rs. 2,500; then he spent Rs. 500 on its 

repairs and sold it for Rs. 3,300. Find 

his loss or profit percent 

(1) 15% loss  

(2) 10% loss  

(3) 12% profit  

(4) 10% profit  
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109. ,d Nk=kokl esa 100 fo|kFkhZ gSa vkSj muds 

Hkkstu dh lkexzh 20 fnu ds fy, i;kZIr gSA 

;fn bl Nk=kokl esa 25 fo|kFkhZ vkSj vk 

tk,¡] rks ;g Hkkstu lkexzh fdrus fnu 

pysxh \ 

(1) 16 fnu 

(2) 20 fnu 

(3) 26 fnu 

(4) 12 fnu 

  109. There are 100 students in a hostel. 

Food provision for them is sufficient 

for 20 days. How long will these 

provisions last, if 25 more students 

join the hostel ? 

(1) 16 days 

(2) 20 days 

(3) 26 days 

(4) 12 days 

110. ;fn fdlh la[;k dk 
3
2  Hkkx mlh la[;k ds 

5
3  Hkkx ls 4 vf/kd gks] rks og la[;k Kkr 

djsa 

(1) 30 (2) 40 

(3) 60 (4) 20 

  110. If 
3
2  part of any number is 4 greater 

than 
5
3  part of this number. Find this 

number 

(1) 30 (2) 40 

(3) 60 (4) 20 
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111. la[;kvksa 5, 7, 9, 12, 10, 15, 7, 8, 7, 25 dk 

cgqyd D;k gksxk \ 

(1) 5 

(2) 7 

(3) 9 

(4) 12 

  111. What will be the mode of numbers 

5, 7, 9, 12, 10, 15, 7, 8, 7, 25 ? 

(1) 5 

(2) 7 

(3) 9 

(4) 12 

112. ,d ,sls csyu dh Å¡pkbZ Kkr dhft, ftldh 

f=T;k 7 lseh vkSj dqy i`"Bh; {ks=Qy 

968 oxZ lseh gS 

(1) 15 lseh 

(2) 16 lseh 

(3) 12 lseh 

(4) 20 lseh 

  112. Find the height of a cylinder whose 

radius is 7 cm and the total surface 

area is 968 2cm  

(1) 15 cm 

(2) 16 cm 

(3) 12 cm 

(4) 20 cm 
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113. 25% NwV fn;s tkus ij jkgqy us ,d LosVj 

[kjhnk vkSj #0 20 cpk,A NwV ls igys LosVj 

dk D;k ewY; Fkk \ 

 

(1) #0 80 

(2) #0 90 

(3) #0 75 

(4) #0 95 

  113. Rahul bought a sweater and saved 

Rs. 20 when a discount of 25% was 

given. What was the price of the 

sweater before the discount ? 

(1) Rs. 80 

(2) Rs. 90 

(3) Rs. 75 

(4) Rs. 95 

114. #0 840 vafdr ewY; okyh ,d oLrq 

#0 714 esa csph tkrh gSA cV~Vk çfr'kr 

fdruk  gS \ 

(1) 20% (2) 22% 

(3) 15% (4) 25% 

  114. An item of printed price Rs. 840 is 

sold for Rs. 714; what is the discount 

percentage ?  

(1) 20% (2) 22% 

(3) 15% (4) 25% 
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115. ;fn 3p + 7 = 25 gks] rks  p dk eku gksxk  

(1) 6 

(2) 32 

(3) 28 

(4) 9 

  115. If  3p + 7 = 25, the value of p will be  

(1) 6 

(2) 32 

(3) 28 

(4) 9 

116. 250 eh yackbZ vkSj 175 eh pkSM+kbZ okys 

vk;rkdkj cxhps ds pkjksa vksj ckM+ yxkus dk 

O;; #0 12 çfr ehVj dh nj ls Kkr dhft,  

(1) #0 5100 

(2) #0 10,200  

(3) #0 3000 

(4) #0 4200 

  116. Find the cost of fencing a rectangular 

park of length 250 m and breadth 

175 m at the rate of Rs. 12 per metre 

(1) Rs. 5100 

(2) Rs. 10,200 

(3) Rs. 3000 

(4) Rs. 4200 
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117. ,d oxZ vkSj ,d vk;r dk {ks=Qy leku gSA 

;fn oxZ dh Hkqtk 40 lseh gks vkSj vk;r dh 

pkSM+kbZ 25 lseh gks] rks vk;r dh yackbZ Kkr 

dhft, 

(1) 81 lseh 

(2) 65 lseh 

(3) 64 lseh 

(4) 74 lseh 

  117. The area of a square and a rectangle 
are equal. If side of the square is 
40 cm and breadth of the rectangle is 
25 cm, find the length of the rectangle 

(1) 81 cm 

(2) 65 cm 

(3) 64 cm 

(4) 74 cm 

118. fdUgha nks la[;kvksa dk vuqikr 3 : 4 gS rFkk 
mudk ;ksx 420 gSA buesa cM+h la[;k gS 
  

(1) 175 

(2) 200 

(3) 240 

(4) 315 

  118. The ratio of two numbers is 3 : 4 and 
sum of these two numbers is 420, 
then greater number is   

(1) 175 

(2) 200 

(3) 240 

(4) 315 
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119. jfo] jktw rFkk jke esa #0 250 bl çdkj 
ck¡Vs x, fd jfo dks nks Hkkx] jktw dks rhu 
Hkkx rFkk jke dks ik¡p Hkkx feysA bl c¡Vokjs 
esa jke dks fdruk /ku feyk \ 
 

(1) #0 75 

(2) #0 125 

(3) #0 100 

(4) #0 95 

  119. If  Rs. 250 was divided amongst Ravi, 
Raju and Ram, so that Ravi got two 
parts, Raju three parts and Ram five 
parts. How much money did Ram 
get ? 

(1) Rs. 75 

(2) Rs. 125 

(3) Rs. 100 

(4) Rs. 95 

120. jSf[kd lehdj.kksa 3x + 2y = 4 rFkk 

8x + 5y = 9 dk gy gS 

(1) x = 2,   y = 5 

(2) x = −2,   y = 5 

(3) x = 5,   y = 2 

(4) x = −5,   y = −2 

  120. Solution of the linear equations  

3x + 2y = 4 and 8x + 5y = 9 is 

(1) x = 2,   y = 5 

(2) x = −2,   y = 5 

(3) x = 5,   y = 2 

(4) x = −5,   y = −2 
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Hkkx – V / PART – V 

i;kZoj.k v/;;u  / ENVIRONMENTAL STUDIES 

funs Z'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

121. fuEufyf[kr fodYiksa esa ls dkSu-ls i;kZoj.kh; 
eqn~ns gSa \ 

(i) ty laj{k.k  

(ii) dpjk fuLrkj.k 

(iii) tula[;k o`f) 

(1) (i) vkSj (ii) (2) (i) 

(3) (ii) vkSj (iii) (4) (i), (ii) vkSj (iii) 

  121. Which out of the given options are 
environmental concerns ?  

(i) Conservation of water 

(ii) Disposal of waste 

(iii) Increase of Population 

(1) (i) and (ii) (2) (i) 

(3) (ii) and (iii) (4) (i), (ii) and (iii) 

122. Hkkjrh; çk;}hi {ks= esa fuEufyf[kr jkT; 
lfEefyr gSa 

(1) mM+hlk] NÙkhlx<+ vkSj vka/kz çns'k 
 

(2) rfeyukMq] dsjy] dukZVd vkSj vka/kz 
çns'k 

(3) if'peh caxky] mM+hlk vkSj vka/kz çns'k 
 

(4) egkjk"Vª] xqtjkr vkSj xksok 

  122. Indian Peninsular region has the 
following States 

(1) Orissa, Chhattisgarh and Andhra 
Pradesh 

(2) Tamil Nadu, Kerala, Karnataka 
and Andhra Pradesh 

(3) West Bengal, Orissa and Andhra 
Pradesh 

(4) Maharashtra, Gujarat and Goa 

123. bZ oh ,l ,dhdj.k gS 

(1) ikfjfLFkfrdh] fo"kk.kqfoKku vkSj foKku dk 

(2) foKku vkSj lkekftd v/;;u dk 

(3) foKku] lkekftd v/;;u vkSj i;kZoj.k 
f'k{kk dk 

(4) i;kZoj.k foKku vkSj lkekftd v/;;u dk 

  123. EVS is an integration of 

(1) Ecology, Virology and Science 

(2) Science and Social Studies 

(3) Science, Social Studies and 
Environmental Education 

(4) Environmental Science and 
Social Studies 
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124. v'kq) ty dks 'kksf/kr fd;k tkrk gS 
 

(1) vokafNr jlk;u gVk dj 

(2) tSfod lanw"kd gVk dj 

(3) xSlksa dks gVk dj 

(4) mijksDr lHkh 

  124. Contaminated water can be purified 
by removing  

(1) undesirable chemicals 

(2) biological contaminants 

(3) gases 

(4) all of the above 

125. fuEufyf[kr esa ls dkSu gekjs i;kZoj.k ds 
vi?kVu ds fy, mÙkjnk;h ugha gS \ 
 

(1) Bksl vof'k"V Qsaduk 

(2) ouksUewyu 

(3) oujksi.k 

(4) thok'eh b±/ku dk mi;ksx 

  125. Which of the following is not 
responsible for degradation of our 
environment ? 

(1) Solid waste disposal 

(2) Deforestation 

(3) Afforestation 

(4) Use of fossil fuels 

126. jeu dks mlds iM+kslh us pkj fdyks vk¡oyk 
migkj esa fn,A og eqjCck cukus dh ;kstuk 
cukrk gSA mls fdl rduhd dks viukus dh 
t:jr gS \ 

(1) laj{k.k  

(2) ifjj{k.k 

(3) vi?kVu  

(4) ikLpqjhdj.k 

  126. Raman was gifted four kg Amla by 
his neighbour. He plans to prepare 
murabba. Which technique does he 
need to adopt ? 

(1) Conservation 

(2) Preservation 

(3) Decomposition 

(4) Pasteurization 

127. i`Foh ij ÅtkZ dk pje òksr gS 
 

(1) iou 

(2) lw;Z 

(3) ikS/ks 

(4) tkuoj 

  127. The ultimate source of energy on 
earth is  

(1) Wind 

(2) Sun 

(3) Plants 

(4) Animals 
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128. dk¡Vsuqek ifÙk;ksa dks n'kkZdj ,d f'k{kd fdl 
çdkj ds ikS/kksa ds ckjs esa i<+k jgk gS \ 
 

(1) LFkyh; 

(2) tyh; 

(3) mHk;/kehZ 

(4) e#LFkyh; 

  128. By demonstrating spiny leaves a 
teacher is teaching about which type 
of plants ? 

(1) Terrestrial 

(2) Aquatic 

(3) Epiphytic 

(4) Xerophytic 

129. fuEufyf[kr esa ls dkSu-lk i{kh Lo;a ds uhM+ 
dk fuekZ.k ugha djrk gS \ 

(1) dkSvk 

(2) dks;y 

(3) xkSjS;k 

(4) cqycqy 

  129. Which of the following birds do not 
build a nest of its own ? 

(1) Crow 

(2) Koel 

(3) Sparrow 

(4) Bulbul 

130. fuEufyf[kr esa ls dkSu-lk egklkxj vkWLVªsfy;k 
ds if'pe vkSj vÝhdk ds iwoZ esa fLFkr gS \ 
 

(1) ç'kkUr egklkxj 

(2) fgUn egklkxj 

(3) vVykafVd egklkxj 

(4) nf{k.kh egklkxj 

  
130. Which of the following ocean lies to 

the west of Australia and east of 
Africa ? 

(1) Pacific Ocean 

(2) Indian Ocean 

(3) Atlantic Ocean 

(4) Southern Ocean 

131. ^js'ke* dh jklk;fud çd`fr gS 

(1) dkcksZgkbMªsV 

(2) olk 

(3) çksVhu 

(4) olh; vEy 

  131. The chemical nature of 'Silk' is  

(1) Carbohydrate 

(2) Lipid 

(3) Protein 

(4) Fatty acid 
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132. fuEufyf[kr ikS/kksa esa ls dkSu-lk ^o`{k* dk 
mnkgj.k gS \ 

(1) cjxn 

(2) xqykc 

(3) esagnh  

(4) rqylh 

  132. Among the following plants which is 
an example of 'Tree' ? 

(1) Banyan 

(2) Rose 

(3) Lowsonia (Henna) 

(4) Oscimum (Tulsi) 

133. dkSu-lh çkd`frd vkink ugha gS \ 

(1) Hkwdai 

(2) 'kkVZ lfdZV ls yxh vkx 

(3) lqukeh 

(4) pØokr 

  
133. Which is not a natural disaster ? 

(1) Earthquake 

(2) Short Circuit Fire 

(3) Tsunami 

(4) Cyclone 

134. fdl flapkbZ ç.kkyh ls lokZf/kd ty laj{k.k 
gksrk gS \ 

(1) p<+l 

(2) V~;wc-osy 

(3) cw¡n flapkbZ  

(4) QOokjk 

  134. Which irrigation practice leads to 
maximum water conservation ? 

(1) Water wheel 

(2) Tube-well 

(3) Drip irrigation 

(4) Sprinkle 

135. ok;q çnw"k.k ls ugha gksrs gSa 

(1) ikpura= ls lEcfU/kr jksx 

(2) dSUlj 

(3) 'olu lEcU/kh jksx 

(4) bekjrksa dk {k; 

  135. Air pollution does not leads to 

(1) Gastro-intestinal diseases 

(2) Cancer 

(3) Respiratory diseases 

(4) Corrosion of buildings 
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136. çdk'k la'ys"k.k fØ;k esa ikniksa }kjk okrkoj.k 
ls dkSu-lh xSl vo'kksf"kr dh tkrh gS \ 

(1) vkWDlhtu 

(2) ukbVªkstu 

(3) dkcZu MkbvkWDlkbM 

(4) ty-ok"i 

  136. In photosynthesis which gas is absorbed 
by plants from the atmosphere ? 

(1) Oxygen 

(2) Nitrogen 

(3) Carbon dioxide 

(4) Water vapour 

137. dhVHk{kh ikni ftl e`nk ij mxrs gSa] mlesa 
dkSu-lk rRo ugha gksrk \ 

(1) ukbVªkstu 

(2) dkcZu  

(3) lYQj 

(4) iksVSf'k;e 

  137. Insectivorous plants grow on soil 
which is deficient in  

(1) Nitrogen 

(2) Carbon 

(3) Sulphur  

(4) Potassium 

138. vki ckydksa ds lkFk puk vadqj.k dh xfrfof/k 
djrs gSa ftlesa çR;sd ckyd fHkUu-fHkUu 
ifjfLFkfr;ksa esa vadqj.k dk ç;kl djrk gS % 
(1) dsoy gok esa (2) gok vkSj ikuh esa (3) 
ikuh esa iwjh rjg Mqck djA 
 

ckyd çkIr ifj.kkeksa dks viuh dkWfi;ksa esa 
vafdr djrs gSa] fo'ys"k.k djrs gSa vkSj 
fu"df"kZr djrs gSa fd vadqj.k ds fy, ikuh 
vkSj gok nksuksa vko';d gSaA bl xfrfof/k esa 
fuEufyf[kr esa ls fdl dkS'ky ls ckydksa dk 
ifjp; ugha gksrk \ 

(1) voyksdu 

(2) oxhZdj.k 

(3) mUurhdj.k 

(4) rkfdZdrk 

  138. You do an activity involving 
germination of gram seeds with 
children where each child tries 
germination in different conditions  
(1) in air only (2) in air and water (3) 
completely dipped under water. 

The children enter the result in their 
notebook in a table, analyse and 
conclude that both air and water are 
required for germination. Which one 
of the skills children aren't exposed  
to ? 

(1) Observation 

(2) Classification 

(3) Improvisation 

(4) Logical reasoning 
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139.  fuEufyf[kr esa ls dkSu&lh [kk| Ük`a[kyk ?kklh; 
-eSnku dh ugha gS \ 

(1) dhV] esa<d] lk¡i 

(2) [kjxks'k] ykseM+h] 'ksj 

(3) Iykod] eNyh] Ogsy 

(4) pwgk] lk¡i] fx) 

  139.  Which of the following is not a 
grassland food chain ? 

(1) Insect, Frog, Snake 

(2) Rabbit, Fox, Lion 

(3) Planktons, Fish, Whale 

(4) Mouse, Snake, Hawk 

140. fuEufyf[kr esa ls fdl ouLifr ds cht ge 
[kkrs gSa \ 

(1) xktj 

(2) eDdk 

(3) dsyk 

(4) ew¡xQyh 

  140. Which of the following plants' seeds 
do we eat ? 

(1) Carrot 

(2) Maize 

(3) Banana 

(4) Groundnut 

141. fuEufyf[kr esa ls dkSu-lk ty dks vlaØfer 
djus esa lgk;d ugha gS \ 

(1) fuL;Unu ¼Nkuuk½ 

(2) Dyksjhu xksfy;k¡  

(3) fQVdjh 

(4) mckyuk 

  141. Which out of the following does not 
help in disinfecting water ? 

(1) Filtration 

(2) Chlorine tablets 

(3) Alums 

(4) Boiling 

142. ^fo'o i;kZoj.k fnol* euk;k tkrk gS 
 

(1) 5 twu dks 

(2) 1 ebZ dks 

(3) 21 twu dks 

(4) 7 vDVwcj dks 

  142. 'World Environment Day' is celebrated 
on 

(1) June 5th 

(2) May 1st 

(3) June 21st 

(4) October 7th 
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143. i;kZoj.kh; v/;;u dk mn~ns'; gS 
 

(1) LFkkuh; i;kZoj.k / i;kZoj.kh; eqn~nksa ds 
çfr le> mRiUu djuk 
 

(2) oSf'od i;kZoj.k / i;kZoj.kh; eqn~nksa ds çfr 
le> mRiUu djuk 
 

(3) i;kZoj.k ds çfr ldkjkRed n`f"Vdks.k 
mRiUu djuk 

(4) mijksDr lHkh  

  143. Environmental studies aims at 
developing 

(1) Understanding local 
environment/environmental 
issues 

(2) Understanding global 
environment/environmental 
issues 

(3) To develop positive attitude 
towards environment 

(4) All of the above 

144. çkd`frd lalk/ku gksrs gSa 

(1) ty 

(2) [kfut 

(3) ydM+h 

(4) mijksDr lHkh  

  
144. Natural resources includes 

(1) Water 

(2) Minerals 

(3) Wood 

(4) All of the above 

145. fuEufyf[kr esa ls dkSu-lk ÅtkZ dk oSdfYid 
òksr gS \ 

(1) yhfFk;e cSVfj;k¡ 

(2) lksfM;e ySEi 

(3) ty ÅtkZ 

(4) ,y bZ Mh 

  145. Which of the following is an alternate 
source of energy ? 

(1) Lithium batteries  

(2) Sodium lamps 

(3) Hydro energy 

(4) LEDs 

146. fuEufyf[kr esa ls dkSu&ls i{kh ds uj o eknk 
fn[kus esa leku gksrs gSa \ 

(1) cqycqy 

(2) dks;y 

(3) xkSjS;k  

(4) e/kq[kksjk 

  146. The male and female of which of the 
following birds resemble each other ? 

(1) Bulbul 

(2) Koel 

(3) Sparrow 

(4) Sun-bird 
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147. fuEufyf[kr esa ls fo"ke dks p;fur dhft, 

(1) lkSj ÅtkZ 

(2) iou ÅtkZ 

(3) Tokjh; ÅtkZ 

(4) çkd`frd xSl 

  147. Select the odd one out 

(1)  Solar energy 

(2)  Wind energy 

(3)  Tidal energy 

(4)  Natural gas 

148. fuEufyf[kr esa ls dkSu-lh [kqjkd esa çksVhu 
vkf/kD; esa ugha gS \ 

(1) iuhj 

(2) nkysa 

(3) 'kq) ?kh 

(4) ekal 

  148. Which of the following is not a 
protein rich diet ? 

(1) Cheese 

(2) Pulses 

(3) Pure Ghee 

(4) Meat 

149. Jfed e/kqeD[kh vU; efD[k;ksa dks Hkkstu ds 
òksr dh fn'kk Kkr djkrh gS 

(1) fHkufHkuk dj 

(2) u`R; ds }kjk 

(3) jklk;fud ladsru }kjk 

(4) Li'kZ }kjk 

  149. Worker honey-bee convey the 
direction of food source to other bees 
by  
(1) Buzzing 
(2) Dancing 
(3) Chemical signaling 
(4) Touch 

150. xzkeh.k {ks= esa xkscj dk ç;ksx >ksiM+h dh 
nhokjksa ,oa Q'kZ dks yhius ds fy, fd;k tkrk 
gS] ftlls  

(1) os fpduh jgsa 

(2) ?k"kZ.k gsrq [kqjnjh gks tk,¡ 

(3) nhokjksa ,oa Q'kZ dk çkd`frd jax gks 
 

(4) dhV nwj jgsa 

  150. In rural area, cow dung is used to 
coat the floor and walls of huts to 
 
(1) make them smooth 
(2) make them rough for friction 

(3) give a natural colour to the walls 
and floor 

(4) keep the insects away 
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